Annotated Stata Output
Homework #5 Key
November 2, 2011, Page 2 of 24

#### Biost 517: Applied Biostatistics I

#### Emerson, Fall 2011
#### Annotated Stata Log File: Homework #5
#### November 2, 2011
#### In this file I give the Stata commands I used to produce
#### the key to Homework #5. In order to properly format

#### a table useful to casual readers, I cut and pasted some

#### of the output into Excel.

#### Comments edited into the log file produced by Stata are

#### on the lines that start with the four ‘#’ signs and are

#### printed in italics.
#### The Stata commands are put in bold face.
#### Stata output is displayed in regular typeface in blue.
#### Read in data for problems 1-2: I had previously saved a Stata file
. cd teach/datasets

\\.psf\Home\Documents\teach\datasets

. use mri
#### Problem 1

. g censored= 1 - death

. replace obstime= obstime / 365.25

(735 real changes made)

. bysort censored: summ obstime

-> censored = 0

    Variable |       Obs        Mean    Std. Dev.       Min        Max

-------------+--------------------------------------------------------

     obstime |       133    3.184285     1.49128   .1861739   5.535934

-> censored = 1

    Variable |       Obs        Mean    Std. Dev.       Min        Max

-------------+--------------------------------------------------------

     obstime |       602    5.327021    .2968176   5.002053    5.91102

. stset obstime censored

     failure event:  censored != 0 & censored < .

obs. time interval:  (0, obstime]

 exit on or before:  failure

------------------------------------------------------------------------------

      735  total obs.

        0  exclusions

------------------------------------------------------------------------------

      735  obs. remaining, representing

      602  failures in single record/single failure data

 3630.376  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =   5.91102

. sts graph, xtitle("Time from Study Accrual (years)") ytitle("Probability of Remaining Uncensored") 

> t1("Distribution of Censoring Time") cens(s)

         failure _d:  censored

   analysis time _t:  obstime

. stci, rmean

         failure _d:  censored

   analysis time _t:  obstime

             |    no. of  restricted

             |  subjects        mean      Std. Err.    [95% Conf. Interval]

-------------+-------------------------------------------------------------

       total |       735    5.332998      .0120774      5.30933    5.35667

. stci, p(25)

         failure _d:  censored

   analysis time _t:  obstime

             |    no. of 

             |  subjects         25%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

       total |       735    5.086927      .0069813      5.07598    5.09788

. stci, p(50)

         failure _d:  censored

   analysis time _t:  obstime

             |    no. of 

             |  subjects         50%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

       total |       735    5.185489      .0100226      5.16632    5.20465

. stci, p(75)

         failure _d:  censored

   analysis time _t:  obstime

             |    no. of 

             |  subjects         75%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

       total |       735    5.664613      .0152841      5.62902    5.68652

. sts list , at(5, 5.5, 6)

         failure _d:  censored

   analysis time _t:  obstime

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

-------------------------------------------------------------------------------

       5       615        0              1.0000         .          .         .

     5.5       210      394              0.3552    0.0194     0.3174    0.3932

       6         1      208                   .         .          .         .

-------------------------------------------------------------------------------

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

#### Problem 2

#### Note the use of logical conditions to create the indicator variables

#### Stata treats missing data as the highest possible value and so I have to explicitly

#### set the missing data to missing (I think this is stupid of Stata, a logical condition

#### computed with missing data should be missing.)

. g dsstLo = int(dsst < 35)

. replace dsstLo= . if dsst==.

(12 real changes made, 12 to missing)

. g deadin5= int(obstime <=5)

. replace deadin5=. if obstime==.

(0 real changes made)

. tabulate deadin5 dsstLo, row col

+-------------------+

| Key               |

|-------------------|

|     frequency     |

|  row percentage   |

| column percentage |

+-------------------+

           |        dsstLo

   deadin5 |         0          1 |     Total

-----------+----------------------+----------

         0 |       450        158 |       608 

           |     74.01      25.99 |    100.00 

           |     89.11      72.48 |     84.09 

-----------+----------------------+----------

         1 |        55         60 |       115 

           |     47.83      52.17 |    100.00 

           |     10.89      27.52 |     15.91 

-----------+----------------------+----------

     Total |       505        218 |       723 

           |     69.85      30.15 |    100.00 

           |    100.00     100.00 |    100.00 

. replace dsstLo=1 if dsst==.

(12 real changes made)

. tabulate deadin5 dsstLo, row col

+-------------------+

| Key               |

|-------------------|

|     frequency     |

|  row percentage   |

| column percentage |

+-------------------+

           |        dsstLo

   deadin5 |         0          1 |     Total

-----------+----------------------+----------

         0 |       450        164 |       614 

           |     73.29      26.71 |    100.00 

           |     89.11      71.30 |     83.54 

-----------+----------------------+----------

         1 |        55         66 |       121 

           |     45.45      54.55 |    100.00 

           |     10.89      28.70 |     16.46 

-----------+----------------------+----------

     Total |       505        230 |       735 

           |     68.71      31.29 |    100.00 

           |    100.00     100.00 |    100.00 

. log close

      name:  <unnamed>

       log:  \\.psf\Home\Documents\teach\datasets\../courses/b517/hw5Stata.log

  log type:  text

 closed on:   2 Nov 2011, 06:21:11
